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RINAN nSe>

9  UTTMIRNTNLASATTHN

N3 LBUTTRIRN TN

o QUININFTNUIINUNIN AR environment thebibliography lasudaz
entry Tvualaadas

\bibitem [labell {marker}

P Yy a K %Y o o
o marker Ylm‘ﬁu@sluimmi mmsnl‘ﬁmdadmlmaﬂmﬂ@mﬂmad

\cite{marker}

o A v & oy A o o %y v R o v a '
o ddan label IIuihaBadmsuvangsrulunissrafisiatenssansds win'lal
fmua ITEX szdmuadiarldnuudasnanmslesdaluda

« environment thebibliography 93U argument %362

\begin{thebibliography}{template}

template \Dun1yvaviitandmsuihagatanas BTEX azamendisirihafeazin
X A o | a Y
Wafinsldifuanuniisuas template




A3 LBUTIRIRNIN

o @88

[ Bibliography

Please read [1] for more
Please read”\cite{lshort} for mor

information.

information.

\begin{thebibliography}{99}
\bibitem{lshort} T.\ Oetiker,

[1] T. Oetiker, H. Partl, I. Hyna H.\ Partl, I.\ Hyna and

and E. Schlegl. The Not So E.\ Schlegl.
Short Introduction to \emph{The Not So Short
BTpX 2:. CTAN. (2002) Introduction to \LaTeXe.}

CTAN. (2002)
\end{thebibliography}

o UTINUNINIUGI — BIBTEX (gdayaussonynsutiadanldluienss +
style NI TLULTIYNINULLA9)




ATIBIh

o MIaT9asspilu BTEX — package makeidx + 113unsu makeindex
¢ package makeidx

— 'l package

\usepackage{makeidx}

& o

£ a 2o o
— asdumiaiasoh — 1gdeslu preamble:

\makeindex

a a Lo & X o oAy o a
— WYQIITY — 1’Ijﬂqﬁﬂluluﬂﬂﬂll@ﬂa’li W ALRUINGODINIINIAIITIS:

\index{key}

(key Radnlumonisassoil)

]
< A v

v a v 1 v o !
FIWNAIITUNBLRN — 1°1iﬂ’]ﬁ\‘1'ﬂ LA

\printindex

AT

o TU5unI0 makeindex

— dlamnaulwaianss — f&s \index{. ..} az@ounznis index aslu
TWswwana . idx

— RIS

$ makeindex file.idx

P o o Al v o o a o & &
Wasssseuatrrilriniouusnuulndianss, aunaansadlulg
file.ind

P 4 a & o 4 . . ' o

— Wessnanlnslana138na3y — @189 \printindex azsudoyalu
file. ind msudnlwenans (luseuusndliddl file. ind — s
\printindex laiviasls)

« package showidx azugasdunlsvasdigniessiilu margin note ¢




10  m5UTuues BTEX

U o QL 1
NIES AT NN

v o 4 r oA
o 5wimFalniile:
— dasnsklassaiouuulndAlddle BTEX sasgwlwenans
v a v a da
— @asmafinanusmuisnzaslasssadunlag
— @admIsmnua logical entity 183tan&17

. e o a
— aadmIUTuussgluuunIsIanin

v o & '
. ﬂﬂiﬁiﬂdﬂﬂﬁdlﬁu

\newcommand{name} [num] {definition}

'
A o

— name fadafmFlnd

A . o
— num AWK argument (118 — 0)

]
o A ° '

definition AafdsfiaznIzaruanddelnai

— n381984 argument — #1 = argument W3n, #2 = argument Agay, . . .

v o a 1
[AREGERD ﬂ'lﬁ\‘lsl‘lﬂ&l

o @819 &5196%9 \binom{n}{r}

new command

% in preamble
\newcommand{\binom} [2]{%
\Bigg(\!\!
\begin{array}{c}
#1 \\ #2
\end{array}
\!'\!'\Bigg)}

% in document

$\binom{n}{r}$




U o n'/ 1
NIESANFI NN

o BTEX ldoauldaiedalnaidas \newcommand dérsaida

o & a Lo & X
o NIIUALURFILGY — TFFItUN:

\renewcommand{name} [num]l{definition}

'
o

o @R

e

\providecommand{name} [num]{definition}

(% I3 o

It mnamsamdasundgsldgnimueninan wadfagusafazdrunistmveit

'y

V] . 1
N198319 environment 611&3\1

[ . W vy o o
o quau1Ina3 environment walldaaaess

\newenvironment{name} [num]l{before}{after}

— uvunisldamuses name uaz num fnfeunuMas \newcommand

— before \iud1RNaznszviniiaiing environment

& o o A o A .
— after \IuMmFIN9znI=i8au environment




Y . i
138579 environment 113

new environment

How much wood could | % in preamble
a woodchuck chuck if a | \newenvironment{gbox}

woodchuck could chuck {\begin{tabular}{lcl}
wood? \hline
\includegraphics

[width=.2\linewidth]
{images/question.pdf}
\begin{minipage}{.7\linewidth
{\end{minipage}\\
\hline
\end{tabular}}

% in document
\begin{gbox}
How much wood could a woodchuck

chuck if a woodchuck could

chuck wood?
\end{gbox}




N198519 package &§IWA7

£y

o tguimnafIFIua: environment 1Ha931WamuN

— preamble 817 UALILHaM
— QM8196189N17 reuse MFILAE environment lulana13au

— MAIIINETN package FIUGI
o M38319 package §IHA7

— swmstmuedssvdlulwswuans sty

— Wyuswaddsdaluindulng

\ProvidesPackage{package name}

— 2zaald WTEX as19gaunis \usepackage o

g o o o
— lwanssfidosnsldgamas:

\usepackage{package name}

h&pmambm

N138319 package &6

o G288 (mypackage.sty)

\ProvidesPackage{mypackage}
\newcommand{\binom} [2]{%
\Bigg (\!'\!\begin{array}{c}
#1 \\ #2
\end{array}\!\!\Bigg)}

\newenvironment{gbox}
{\begin{tabular}{|c|} \hline
\includegraphics
[width=.2\1linewidth]
{images/question.pdf}
\begin{minipage}{.7\linewidth}}
{\end{minipage}\\
\hline \end{tabular}}




n3lSuues BITEX

o S2ETIENINUTING (911 preamble)

\linespread{factor}

— QUITVTININUIINGGY factor Anua

o 1 ) <
. nﬁi%ﬂﬂawu1(a5hkmeambb)

\setlength{\parindent}{Opt}

1 i&, 1 v
— liilasdanin

\setlength{\parskip}{lex plus 0.5ex minus 0.2ex}

— WiNTTarITRineganiin

P e A o o o
— YaAI332IJ; IRINURIIUYMIY

— DMRFIVRIFIIUY

n3lSuney BTEX

Qs 1 L9 1
o M3VALDNUN (6la)

< v o

o o qov X ' v A o
— deeulifasdantimiteg (@efidutanin)

\indent

< v

— dseuladlFibesdentimiteg (Fefidudanin)

\noindent




n3dSuuas BTEX

o 7897379U%7231U (horizontal space)

\hspace{length}
‘ hspace
This is a space of 1.5 This\hspace{1l.5cm}is a space
cm. of 1.5 cm.

n3dSuney BTEX

o Ta9iNNBaaugaUIIVa

\stretch{n}

— a9 \hspace{\stretch{n}} sasmssUsnngluusiiadaain —
W19T8931901 factor 2996789 \stretch

‘ stretch

X X X x\hspace{\stretch{1}}
x\hspace{\stretch{3}}x




n3dSuney BTEX

o BIIWUWIAGY (vertical space)

\vspace{length}

— l¥uUsznouny \stretch uaz \pagebreak
o a U 1 U A U U %
— JausITialWagnaramimiarinanile

Some text \ldots

\vspace{\stretch{1}}
This goes onto the last line of the page.
\pagebreak

\\ [length]

— ldunsialndlugonsinidulasfisszosds

— \bigskip 4az \smallskip

X o | P g Y L dE€&ve o
— TuUiiﬂ@llﬂNI@Hﬂdixﬂ:@]?.Iﬂ'm(mvl,’JLL 9

n3dSuney BTEX

e Page Layout
— page layout 199 ITEX aasgmiinisasnuuuuieg sy laseitads
tladaviaies a4
s laarsdSuiladsuiu

— madSuanueegg

\setlength{parametert{length}
\addtolength{parameter}{length}

— WIMANNEIVEITEANN

\settoheight{variable}{text}
\settodepth{variable}{text}
\settowidth{variable}{text}

10




n3dSuney BTEX

length |

\newenvironment{vardesc}[1]{%
a? + b =2 \settowidth{\parindent}{#1:\ }

\makebox [0pt] [r]1{#1:\ }}{}
Where: a,b — are adjunct to the

right angle of a right-angle \[a~2+b~2=c~2\]
triangle.

¢ — is the hypotenuse of \begin{vardesc}{Where}

the triangle and feels lonely. $a$,$b$ -- are adjunct to the
d — finally does not show right angle of a right-angle

up here at all. Isn’t that triangle.

puzzling?

$c$ -- is the hypotenuse of
the triangle and feels lomely.

$d$ -- finally does not show
up here at all. Isn’t that

puzzling?
\end{vardesc}

Boxes

o a A €V ' & Lo o & o & o
TEX damasasfudaransaiuaznn asudaranss s ndud Huusivie
Fuudidunaosnadn

« naavfiaugy (height), AWEN (depth) uazAWNI9 (width)

— height = szazniialduussia

— depth = szaldd@usiia

2 ' 9 o 9 a A 1 e A
o NMILVAUNADILVINILNY ﬂ’]’J‘iJ’N"HuG]?;I(ﬂVi@vLmJ’mﬂ’N"Duﬂau

o NRBIFEINIINVIIINABI LG
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Boxes

o g59naaINLanin

\parbox [pos] {width}{text}
139
\begin{minipagel} [pos] {width} texrt \end{minipagel}

— pos Aadunisaasndasluumfafisunui§uuIIaseITanudaLf e

fanduc, t wSa b

Boxes

e &519N80991NTBANN

\mbox{text}

3 1 1 v v 1 0/ o
— swtaanulansas — M untIuTIvialuan

\makebox [width] [pos] {text}

— width = anunevaInaas

— pos = funusvas text lunaas
* C = center
* 1 = left
* T = right

* s = spread

\framebox [width] [pos]{text}

— wilan \makebox wafinIaude

12




Boxes

central

S P r e a

Guess I'm framed now! ‘

Bummer, I am too wide ‘

ad,ymualmaﬂ this?

makebox

\makebox [\linewidth] {/
d central}par

\makebox [\1linewidth] [s]1{%
s pr e ad}t\par

\framebox[1.1\width]{Guess I’m
framed now!}\par

\framebox [0.8\width] [r]{Bummer,
I am too widel}\par

\framebox[1cm] [1]{never

mind, so am I}

Can you read this?
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